* H D L - 1 3 0 8 0 0 0 1 0 1 0 8 0 5 *

HDIL.-16080001010805 Seat No.

B. Com. (Sem. I) (CBCS) Examination
November/December - 2017
Advance Statistics-I

(New Course)

1

Time : 25 Hours] [Total Marks

YA ¢ ol Ul sAduUd B,

v (2) wulkid RRad 224 g ? all dlaRisd 2.
() HARMIAAL Wy Hul vleiddl 53

: 70

iR

dd- 60l | 60—-62 |62—-64 [64—66[66—68 684l ay

5148IR AV 10 12 24 46 18 10

Al
1 (2) [Madl 22d g ? Al UsRL AxAdl.
(o) QA Al uell st. MudAdl ugliel RyHAL 29
[anHdis 2l

ol [0-10 [10-20|{20-30 |30-40 [40-50
f 8 20 11 26 10

R () usdioly ANed g ? [dlel vusla-l Aa Auondl.
(e) "7 gl :

n=7.3(x-1)=59, ¥ (x-3) =337,
d(y-2)=66, Y (y—4) =434,
Y (x=5)(y-6)=216,

YAl
2 () dslad 2
A, A HAdRIoA.

1

10

HDL-16080001010805] 1 [Contd...



Al ldl WAl b, b, 21 2R x=28, &l AR ydl 10
URA Bud Aadl :
x y
20-25 25-30 30-35 35-40
20-26 20 26 - -
26-32 8 14 37 -
32-38 - 4 18 3
38-44 - - 4 6
YAS Vs 22d g 7 d-l Gualoll arudl. 10
Faz-dl yasuis Aadl : 10
A, L5U M9 QU
2000 | 2005] 2000 2005
A l1ei | 80 125 | 15 [3dl 25 (el
Ay 1 Bdl | 6.50 8 | 8 Bd 10 (3l
Ay | 10 | 12 15 | 6 ~ial 8 <ol
Ay 1 Bl | 60 85 [800 wu | 1.5 (3l
Ay | 20 [ 85 110 | 15 [aeR 25 (a2
wql
A 5 3 Bl Y, 2is TRT 24 FRT WAR 52 8. 10
B s v = 1000 A d HEAIA wadHals-l 0
Y. s 143.25 1A dl vedl HRdl Aaal :
axg | vl [ sust | e | eadel [
Y. s | 210 [150 | 170 | 100 [105
HIR
? ? | 210 | 300 |110
(W)
AUAAL ¢ A 4% (el A wd Fedd ughi. |
vedl HIRdl A : 10

a2 | e | ues | [ure | Medl (se)
A4 - | 42 - 12
B | - |45 50 10
C | 8 | 50 70 10

N =300, 7sr=45.13, v(¥,)=1.66

HDL-16080001010805]

AYql

[Contd...



¥ ()

(e1)

dslad )

AU ¢ (el

AU wadlsl = 90, 80, 84, 92,
Med 52 = 2 €U d),

Al 5A 5 AU Hus ) MHedldl HRSAL HS 6RIGR AY 8,

Axy (Medl Heusiql Heusd [uRL Aadl.

ENGLISH VERSION

Instruction : All the questions are compulsory.

1 (a) What is standard deviation ? Write properties of S.D.

(b)

Calculate most appropriate measure of Dispersion.

10

5
15

Salary

Less than 60 | 60—-62 [ 62 -64 | 64 —66 | 66 — 68

More than 68

No. of workers 10 12 24 46 18

1 (a)
(b)

(b)

(b)
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OR
What is Skewness ? Explain types of skewness.
From the following data, calculate Skewness and
co-effi. of Skewness by using K. Pearson's method.

Class |0-10[10-20 [20-30 |30-40|40-50
Vi 8 20 11 26 10

What is correlation ? Explain Scattered Diagram
method.
Find 7" if

n=7.%(x-1)=59, ¥ (x-3) =337,
Y(y-2)=66 Y (y-4) =434.
Y (x=5)(y-6)=216,

OR

Difference : Correlation and Regression.

From the following data, find b,.,b,, and estimate

y when x=28 :

X Y

20-25 25-30 30-35 35-40
20-26 20 26 - -
26-32 8 14 37 -
32-38 - 4 18
38-44 - - 4 6
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(b)
4 (a)
(b)

What is index no. ? Write its uses.
Calculate Fisher's index no.
Como. Unit Price Consumption
2000 2005 | 2000 2005
Ay 1 Ton | 80 125 | 15 Kg. 25 Kg.
Agy 1 Kg | 6.50 8 8 Kg. 10 Kg.
Ag 10 Peice| 12 15 |6 Piece 8 Piece
Ay 1 Kg. 60 85 | 800 g. 1.5 Kg.
Ag 20 Lts.| 85 110 |15 Lts. 25 Lts.
OR

Prove that Fisher's index no. satisfy TRT and FRT.
If total expenditure = 1000 and cost of living index

for the month is 143.25. Find missing values.

Como. | Food | Cloth | H.R. | Fuel | Misc.
Index | 210 | 150 | 170 | 100 | 105
AW ? ? 210 | 300 | 110

Explain Simple Random Sampling and Stratified

Random Sampling.

Find the missing values.

Stratum | Size | Mean | Variance | Sample
A - 42 - 12
B - 45 50 10
C 80 50 70 10

N =300, 7sr=4513, V(¥,)=1.66

Difference :

OR

Population and sample.
Population observation are 90, 80, 84, 92,
Sample size = 2.

Prove that population mean is equal to mean of the

sample means. Also find variance of sample means.
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